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(SO wHYID pmsle eyl / Tamil & English Version)

sre @iata : 3.00 wenfl Coyw | [ Qwrgg wHibuearser : 90

Time Allowed : 3.00 Hours ] [Maximum Marks : 90

Sdlaenrset : (1) g elanméseEhd swursl udeird &G'TTGngi:I' Gr.eisrug,emm{;
sfluriggé Qameremew. oFsliudedd Gopudlldea, <ons
samsTaflliLrerflb 2 Languirsd Cgiflailssel.

2) Beob So@F SHBUY en o Ul e &t Lm'_@CSLD Gr@gjmg,ﬁ}@m,
=113 5CsT ausnEn LwuaL(ss Caiam@Lo. LILBIGET auemIeLsn @
Quenéléed LwenL(HSSHeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@l - 1/PART -1
GOl : ()  Syewensg damésEns@d el wafl&seb. 20x1=20
(i) Qsr@éslUl Heter BreE LrHn eleolsalld Weab gpyoLW
aflenL_enwis CombOsBésE GNUILGLen el Wlaemnuid Cargg! er(psayLD.
Note: () Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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DNHPIE apwimélseflen oramenfldbons

4 ' : Al
greflsen efuima GluimmmbgieimbnoT

n(n+1)
(.._.031) nn-1) [.q.”_,)n(n! 1) (@) n (rF) . 2.. /

There are n locks and n matching keys. 1t all the locks and keys are to be perfectly matched,

then the maximum number of trials 18

n(n+1)
(@ nn-1) (b) nn+1) (€) n (d) =y
2. %—%—;—=k erenp HluoliLimengudlen 5g (8, —5) eremp yerefl o erergy srefley, k -6
&y
(1) 2 (=)0 (&) 3 (Fr) 1
x2 y.?.
If the point (8, —5) lies on the locus E_E=k' then the value of k is :
(@) 2 (b) 0 (@ 8 d 1

3. x*—4y%=0 wppib x=a erenn CarBsemmed 2 (BaurssLLGWL WECHTamSSleam Ly :

1 2. o J3
(=) 32" (<) 222 @ 7° () o
The area of the triangle formed by the lines x2—4y?=0 and x=a is :

1 2 3
(a) Eaz (b) 2a? () —-ﬁaz (d) %az

& ACoANC, +,0 #C, =

(1) 2271 (<) 2" (@) 2" (r) 2n
BCo48C, +......+C, = |
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A whHmb B ,q%,:f,hn @(rﬁ Iﬂﬁybéaﬂmd' AcB m;hmu'n P(B)# 0, erem @(?‘)Lliﬂaﬂ

Lglﬁhmlrrwmmu-nI_fh[Dlm eTSl (“]m'['"mmﬂ 4

AR
‘=) P(A/B) = P(A) (eay,) P D)™ pipy
(@) P(A/B) > P(B) () P(A/B) < P(A)

If A and B are two events such that AcB and P(B)#0, then which of the following is

"
correct ¢

- 2
(a) P(A/B) > P(A) v PA/B)= B
(<) P(A/B)> P(B) d P(A/B) < P(A)
(>1) = ()1 (@) -« () O
s
(@ = b 1 (R (@ 0

n((A x B)n(A xC)) =8 ppib n(BNC)=2 erafled, n(A) ereug :

(21) 8 (=) 6 (&) 16 (%) 4
If n((A % B)n(A xC)) =8 and n(BNC) =2 then n(A) is :
(a) 8 (b) 6 () 16 (d) 4

(x, —2), (5,2), (8, 8) erénuan gn CaTLMWLL Lisraflsdr erafle, x -6 L :
1

(=) 1 () —3 (@) 3 () 3

If the points (x, —2), (5, 2), (8, 8) are collinear, then x is equal to :

() 1 ® -3 (€ 3 () %

gggt'.u.[& / Turn over
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5 (A 3 T = : :
9. A wppibd B @ T @ (m ﬁﬂ.-n!.b.ﬁJihhtﬁ"'*"‘@ P(A) = 10 OO0 P(AmB)Z% er afl 6b
P(ANB) -é @iy :
1 1 y 4 1
(@) 1 (@) 3 &) 3 (") 3
If two events A and B are such that P(A) = ia and P(AnB) = % then P(ANB) is :
1 1 1 1
@ 5 O © 3 d 3
S A n | -
10. a=i+j+k, I_)}=2?+x}'\+?, E}= ?—?+4k LD M M LD ?-(l_;x E’)=70 eTafled x -eir
&y
(<=4) 26 (<2)5 (&) 10 ((FE)s
= N i =y AR/ A A '
fa=i+j+k, b=2i+xj+k, c=i-j+4k and a - (b X c)="70 then x is equal to :
@ 26 ®) 5 (© 10 d) 7
T ; . id .
11. y=f(x2+2) wHmid f'(3)=5 erafled, x=1 - Ey cTenLIE) :
(=1) 15 ()5 (@) 10 (F) 25
dy,

If y=f(x*+2) and f’(3)=5, then aé at x=1 is :

(@ 15 (b) 5 (© 10 d 25

12. e *erenp Agmifled x° -6 Qe :

=4 2 4 3
YT i) 3 ®) B i
The co-efficient of x° in the series e~ 2« jg .

HES “~ 4 3
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14.

15.

16.

17.

sin(A—B)
cosA cosB
(1) 0
\\\'\_‘E: ) \'\\\'.\
sin(A —B)
cosA cosB
(@ 0
(<)

y= esim G'I'@Sﬂa)
(<) sinvesin

If y=eS"™ then

(@)

+cosB + cosC

COSA 4+ ¢cosB + cosC

sinveSy

www.Padasalai.Net

sin(B-C) + sin(C—A)

cosC cosA

cosB cosC

www.Trb Tnpsc.com

(eBy,) sinA 4 sinB + sinC

()

g sin(B-C) " sin(C-A) ‘

18 :
cosC’ CosA

(b)
(d)

cosB cosC

dy _
a -
( %) esim‘
dy _
a -
(b) esiny

log 5512 -&n L :

(=t) 9

(<=1) 16

The value of log 5 512 is:

@@ 9

(b) 16

I

ginA + sinB + sinC

1

(©)

( F) ecos
cosxeSinx teh] | @8

(FF) 18
12 (d) 18

= A A . : B s 7 C .
BA = 3i +2}'\+ k pmib B -er Hlenew GleudLit ?+3?—?< erafled A -anr fHlene CleusL i :

(=1) 47

(<=4) 4?+2f+§

(@)

' (F) 471+45]

If ];q =3i+ 2}'\ +% and the position vector of B is ?4_3?_’1}, then the position vector A is

@ 47

I\/—ta?a?

sin2x

A AA
4i+2j+k

(b)

dx =

(<=4) %Jta“x +C (=) JVianx +C

jftaﬁ

sin 2x

dx is:

() -;-\}tanx +C (b)) Jtanx +C

(c)

(©)

A AL
=i (d) 4i+5)

1
Z\/tanx +C () 2Jtanx +C

1
Z\/tanx +C  (d) 2Jtanx+C

[ muys /
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18 iy 1” ; : ‘| 0 eretp SLO6 TL19-60T G By :
i — 6 5 =X \ :
|| 3 3 (4] \l (@)
=6
(1) 0 (<) 6 () 3
; 3
3=x =0 ‘
_ hin b = 0N
A root of the equation [ =6 31 : | -
3 8 —H—x
@ o0 (b) 6 (O (d 3
S erevLig) :
(<) [-3, 3] (<) [=9, 9] (&) [0, 9] (F) R
If the function f: [—3, 3] — S defined by f(x) =x2 is onto, then S is :
@) -8, 3] =2 © [0,9] d R
50, dim &P
x—0 X
(=) Iog[—] (<=4,) log ab (@) % (FF) log(gj
lim gt =b* _
x—0 X
ool 2 a a
(a) & a (b) logab (c) b (d) Iog(g)

. : L@ - 11 / PART - 11

GOl : eremaiGugid ey sllennéeense ool weflssad. ellam e 30 -&@
SL_L_MULILOTS QE]GG)LLU@ﬂé;g;@_ILb_

Note : Answer any seven questions, Question No. 30 is Compulsory.

Tl A

21. ﬁ+8—!=aﬁ@ﬂ@A-GﬁTLﬂ§ﬂlqﬂ'GﬁT6ﬂ?
171 A
If"7*!+ T then find the value of A

L8 B 20 = DMILE
¥ S;owythat ﬁeﬁgfjéxquszo <&l wenay @msm@esrr@asﬁ eranid SML(HS.
Ao =0 and 12y + 8y —15=0 are parallel lines.

A
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2 2 ; DG Chpr@amigen 5aflHsaf GrrGarHsaf e
29. 5y246xy+yi=0 erenp Q7

FLOETIIML el ST

. K- i ine 2 2:
Find the separate equation of the pall of Sh“ghl lines 5x° + bxy + Y 0.

; j ; v euflengLi-
30. INDIA eréfip eurfigasula odrer &TRBBISMET o 55 en auenGHefla el
LEGseomd ?

- : r aranoing the
Find the number of ways of arranging

letters of the word INDIA.

L@ - 11/ PART - 111
GOy : aemauCuen W NarsaEns@ ol welsseyb. elar eran 40 -5&

sL_Lmwiong el weflEae|w. 7x3=21
Note : Answer any seven questions. Question No. 40 is Compulsory.
31. &HEGS : |
L T A w1
3-J8 JB-7 Ji-6 +/6--SEEEET
Simplify :
1 1 1 1 1

S - A A

32. wHLEES :

Ixex dx

Evaluate :

jxe" dx

33. Gamaumid AsTAd pséd n 2 gl seldr smbBS0 STETS.
6+ 66 + 666 + 6666+ ...........
Compute the sum of first n terms of the series.
6 4 66 + 666 + 6666 + ...........

34 im x2—6x+5

- - wIliems :
133 x° —8x + 7 ﬁ OIS BT

2—-
Calcu]atezlimx3 6y + 8
x93 x° =By +7
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(9% ]
~J
.

38.

39.

40.
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x -gU QUITMISE uUESESPeIS &iTama
y=xe'logx

Differentiate the following with respect to y,
y=xe'logx

P =720 mﬁ)g]]Lb “Cr=120 eraflev, n, ~8& HITE 5.
If "P_=720 and nC, =120 find n, 1.

Sy srewrs : cos105°.
Find the value of cos105°.

Xtx-5 ; xE(=o.0)
> 43x—2 ; x€(3, »)
x S xe(0, 2)
x2—3 ; oo @)L Bisafle

era eueTWmSSLILIger —3, 5,0 < Hweudde f -ar SISO STas.

[ ¥?+x—5 if xe(—, 0)
x243x-2 if  xe(3, )

Write the values of fat —3,5,0if f() = 1 x2 I Vxe(0,2)

{ 1?—3 otherwise

Y ;+?c ; 3;'\—~4}'\— sk, i- 33'\—5? <A QeusLTser e QemCaranr psCaTarisams
ewsEED aTas STL(HS.

N N N
Show that the vectors 2]~ ;+/I; / 3?—4?—4?«:\, i —3j =5k form a right angled triangle.

cos11° — sinl1°®

Prove that :
cos11° + sin11® o
cos11° — sinl1°
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u&S - IV/PART . 1v

& (81D “‘fﬂm'-—-‘uaﬂn‘h&@ql_h_ 7x5=35

GDIUY : IEOETSSI 6] 6T T & (6TH¢
Note : Answer all the questions.

o 1
2 —

_ ke s’ 856 LD. .
1. (@) uEd Gerenhisarra IN&66 (41 (e - 1)
|66V g
() y=etan % grafled, (1+22)y"+ (2~ Dy'=0 erens sm_(Has.

2x

f8)5 Eesolva dnto partial fxections gy AT

OR
b) If y=e®n "% show that (1+x%)y "+ (2x—1)y'=0,

42. (=) ABCD eremm prisyssea AC, BD -é1 p@LiLereRser E whmib F -2us @mider,
_ — —> —> —
AB+AD+CB+CD=4EF eren Hlmieys.
{60605

(=) f Geeumomrm euenFumiSsIUL (HeTerg).

sinx
—— 4+ cosx X £

)= =
2 . x=0

eremm &y x=0 -@e QgrrEflureng erand &T_(Hs.

(a) If ABCD is a quadrilateral and E and F are the midpoints of AC and BD respectively,

— = —p —
then prove that AB+ AD+CB+CD=4EF .

OR

S0+ cosx ; when x#0
(b) Let f(x) =4 x

2 ; when x=0

Show that f is continuous at x =0,
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. 1¢ .
43. (<) logqg2+ 1610g 10 X 1210g4 25 Moo 81 | G 6ol Jf;lﬂ;}mm.
1) 24 10 80
i Sy | il el
(<) @58 Q1 BrigsHefla, epavhled 6 H(HLIL Hmi 4 SlaiLiL BIDL LifbgSHeT 2ermeTe.
HEIMTmH mriguile 2 &(HLIL mﬂ)@]lb 2 Sl KoL Lifhg| BT L_6Termen. FLOGUMLILILY

apepuded @ wmy. CeibOsHaEsILC [ ofdlmbs @b LB st (HES LGOS DG
@  SOubs sGUUTES @miugsharan Hlepss@als srans.
(i) TOSSIILL Lbg) S(HLIL 6rarfled (LpHed sy g uflebl(HHs) 6T (HhSSLILILLBDSTE
Pepssey wng ?
o G 16 . 25 | Ilogi o=l
(@) Prove that logyg 2+16log 5 +12logqg % +710g10 80

OR
(b) There are two identical urns containing respectively 6 black and 4 req balls, 2 black
and 2 red balls. An urn is chosen at random and a ball is drawn from it.
(i) Find the probability that the ball is black. : 3
(i) If the ball is black, what is the probability that it is from the first urn ?

3x +5

. (=) 0BulBs: [

3606V
(<24) cot [7% ] = 2 + 3 + V& + J6 eTeand HTanTA&sa, L.

‘[ 3x +5
(a) Evaluate: —x2 _+ i '7
OR

dx

() Show that cot[:r{] i e

45. (=) x @ Comawrar Sareilamer Quiflw erer eravfled,

33 +6 -3 +3 -ar wdlievus CaMTLILTS xiz eran Himieys.
26060
(=) f: R — Reremp & f(x)=2x—3 erem jsuml;ru_l@ésa;uulq_siﬂf@@ Q(mLUDEFFTITL| ere
Blep958!, ige Gpiromplenend &Teus.

: 1 )
(a) Prove that I +6 - %/x:” + 3 is approximately equal to 2 when x is sufficiently

large. 3

(b) Iff: R — Ris defined by f(*) =2x —8, prove that fis a bijection and find its inverse.

A [ Hmliys / Tumn over
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46. (=) GruQuflen GSSTSmS g, .ﬁﬂfr@@-&&&“b-
i S|V G) '
! s O i rﬂfﬁ( LD
(<o) Ax2—10xy + 12y2 4 5x — 16y — 3 = () eTeULIG] €(h @) 6ml (BI_F)FFBS(.::&BWI_ﬁm'—— GVISS
eTeptled . |
@) A -ér iy wHoID éﬁﬁﬁﬂ@ﬁmﬂg SLOGTLIT(DGeneTd &HITe&.
i) @eel Car@sar QaiOL LeTaflenwd srems.

(i) Q@ CasrHHEHEES @enL LI Camentid &mes.

(@) State and prove Napier’s Formula.
OR

(b) If the equation Ax?—10xy+ 122+ 5x —16y—3 =0 represents a pair ©
find :
(i)  The value of A and the separate equations of the lines.
(i) Point of intersection of the lines.
(iii) Angle between the lines.

f straight lines,

47. (=) smrewils Cannsans Lwe (&S

b+c a a’
c+a b b? =(a+b+c)(a—b)(b—c)(gfa)Grsm!ﬂ@]maa_
a+b c c? g

9|VeVF
(<) n=>1 -&@ 322 +2-8n—9 ez 8 -4 AIGLEL eTaTLms Hinies.

b+c a a2

(a) Using Factor theorem, prove that [c+ a b b’ =(a+b+c)(a— b) (b —c¢) (c - a)

lat+bh c 2

OR
(b) Prove that 3°**2—8n—9 is divisible by 8 for all n>1.

~00o0-
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